Directions (Questions 1-30): Study the following passages to answer the questions that follow each
passage.

Passage-I
The term e-commerce emb1aces all the ways of transacting business via electronic data. But it is most
closely identified with commerce transacted over the internet, and it is the internet that has put
e-commerce near the top of the corporate agenda in the first years of the 21% century. E-commerce is
merely an elision of electronic commerce, but it embodies a revolutionary idea: that electronic
commerce is qualitatively different from ordinary time-worn commerce, that (in the jargon) there is a
paradigm shift in the way that business is conducted in the world of e-commerce. Doing business via
the internet is not only much quicker and much cheaper than other methods, it is also thought to
overturn old rules about time, space and price. There is the much-vaunted death of distance: a
customer 10,000 miles away becomes as accessible as one around the corner. And e-commerce has
created the phenomenon of the long tail.
Furthermore, economies of scale are undermined. In its April 1999 report “Making Open Finance
Pay”, Forrester Research, an American research company gave examples of the way in which the
internet had altered the pricing structure of a number of industries, particularly those with high
information content. Before the advent of the internet it cost $ 100 to make an equity market order.
Afterwards it cost just $ 15, an 85% fall in price, far more than could ever have been gleaned from
traditional economies of scale. This is a revolution for organisations whose structures and strategies
have built-in assumptions about relationships between price and volume. Electronic commerce has
grown rapidly. Online sales in the United States are reckoned to have grown by some 18% in 2017.
The country’s five largest online retailers (often called e-tailers) were Amazon, Staples, Office Depot,
Dell and Hewlett-Packard. Dell became a market leader in computers through early use of the internet
to sell goods and services direct to consumers, and to buy components from suppliers.
Financial service offerings over the internet have also sprouted like mushroom, although security
issues have imposed some restraint on the industry. At Charles Schwab, an American retail brokerage
firm, it took just three years for online dealing to account for more than half of all its securities
trading. For banks, the economic logic of e-commerce is compelling. It has been estimated that a
banking transaction over the telephone costs half as much as the same transaction conducted over a
counter in a traditional branch, and that an ATM transaction costs a quarter as much. But a banking
transaction over the internet costs a mere 1% of an over-the-counter transaction at a branch.
E-commerce also allows unknown firms to establish new businesses cheaply and rapidly, and to
compete with old-timers. This they do not provide only by cutting prices and offering wider choices,
but also by allowing consumers to make real-time price comparisons and to switch rapidly (and
frequently) to the cheapest provider. This control that consumers have over prices has led some
analysts to predict that e-commerce can at best only ever be a low-margin business, and at worst a
no-margin business.

1.  The word elision used in the passage means

(1) Omission (2) Abbreviation (3) Contraption (4) Slang
2. Which of the following audiences would find the above passage most useful ?

(1) Software engineers (2) Financial service providers

(3) New entrepreneurs (4) Internet Service providers
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3. Why does the writer state that in e-commerce economies of scale are undermined ?

(1) Because it reinforces the built-in assumptions about the interconnection between price and
volume.

(2) Because volumes cannot be expected in e-commerce, cost per transaction may remain more
or less the same. '

(3) Because e-commerce has the potential to create large volumes which may eventually push
up the cost per transaction.

(4) Because the advantage that a business may derive through volume becomes available even
at small scales.

4. Which of the following statements are not supported by the passage ?

A. Transactions conducted using mobile phones do not qualify to be e-commerce.

B. The amount of trade conducted electronically has grown extraordinarily with widespread
. internet usage.

C. Modern commerce typically uses the World Wide Web at least at some point in the

transaction’s lifecycle.

D. Transaction conducted through email will not qualify to be e-commerce.

E. Electronic commerce involves the transportation of physical items in some way.

(1) A,B,Cand E (2) A,C,DandE (3)CandE (49) B,Dand E

5.  Which of the following is the most appropriate antonym of the word ‘gleaned’ used in the
passage? :
(1) Reduced (2) Expected (3) Executed (4) Separated

Passage-11
In terms of the total energy consumed by different sectors, the largest consumer is understandably the
industrial sector, which accounts for nearly half the total energy used in the country today. This is
followed by the transport sector which consumes about 25%, the household sector (about 14%) and
the agricultural sector (about 9%). This last sector has shown considerable increase in energy use
over the last four decades. Among the primary fuels, the relative proportion of coal has dropped from
nearly 80% to 40% and that of oil has gone up from 17% to 44% over the same period.
Total energy consumption in India today is equivalent to 291 million tons of oil of which 26% comes
from wood. On a per capita basis it works out to about one litre of oil per day, which is extremely low
by international standards. The future energy demand depends upon the level of development
envisaged and also on the sections of people to be affected by it.
The energy disparity between the urban and the rural population is at present as wide as between
nations on a worldwide scale. There is apparently a greater need to provide energy in the rural areas
and to improve the efficiency of energy use than merely to increase the national figures for energy
consumption limiting its use to those who are getting the bulk share already.
With the projected rate of population growth, improving upon the per capita energy consumption is a
Herculean task as our coal reserves and the capacity to import oil cannot be increased beyond a point.
There is clearly no escape from the utilisation of renewable energy sources in a big way if the gap
between the desired levels of energy supply and available resources has to be kept at the minimum.
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10.

11.

12.

Which of the following shows correctly the different sectors consuming energy arranged in
ascending order?

I. Agriculture

II. Household

I1L. Industrial

IV Transport
() LIV, IL I 2 LILIV,II ) OLIv, I, 1 @ OLIL LIV

According to the passage, the energy requirement of the future will be decided on the basis of
which of the following ?

A. Total energy already consumed by us in the past

B. Level of development of oil industry

C. Profile of the affected people

(1) Only A (2) Only B (3) Only C (4) Both B and C

The energy disparity ... as wide as ... worldwide scale, the first sentence of third paragraph
means :

(1) disparity in urban and rural is observed in all nations.

(2) in no other nation such disparity is observed.

(3) developed countries consume more energy than developing countries.

(4) worldwide scale is different for rural and urban areas.

Which of the following styles has been adopted by the author ?
(1) Data-based, objective, positive, solution-oriented

(2) Data-based, but coloured by socialism

(3) Highly subjective with bias for rural people

(4) Objective, descriptive, lacking clarity

The author is laying greater emphasis on which of the following ?
A. Efficient use of energy

B. Increasing national indices for energy consumption

C. Controlling population growth

(1) Only A (2) Only B (3) Only C (4) All these
The author feels that increasing per capita use of energy is

(1) not at all desirable. (2) a matter of great difficulty,

(3) not easy but certainly achievable. (4) rather difficult, but not impossible.

Which of the following statements is true ?

(1) Industrial sector uses 50% of total energy used in India.

(2) Energy consumption in India is 26% of world consumption.

(3) The household sector has shown considerable increase in energy use.
(4) Use of oil has increased from 40% to 80%.
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13. Which of the following has been suggested by the author as the best possible solution to
overcome energy crisis ?
(1) Exploration of oil reserves (2) Maximisation of renewable sources
(3) Importing large quantities of coal (4) Reducing share of bulk users

14. Which of the following has been mentioned as a major hurdle in enhancing per capita
consumption of energy in India ?
(1) Present level of development in India
(2) International norm of 1 litre of oil per day per person
(3) Disparity in use of energy in rural and urban areas
(4) None of these

Passage-111 _

Work expands so as to fill the time available for its completion. The general recognition of this fact is
shown in the proverbial phrase, ‘It is the busiest man who has time to spare.’” Thus, an elderly lady at
leisure can spend the entire day writing a postcard to her niece. An hour will be spent in finding the
postcard, another hunting for spectacles, half an hour to search for the address, an hour and a quarter
in composition and twenty minutes in deciding whether or not to take an umbrella when going to the
pillar box in the street. The total effort that would occupy a busy man for three minutes, all told, may
in this fashion leave another person completely exhausted after a day of doubt, anxiety and toil.

15. Who is the person likely to take more time to do work ?

(1) A busy man (2) A man of leisure
(3) An elderly person (4) An exhausted person
16. What is the total time spent by the eldérly lady in writing a postcard ?
(1) Three minutes (2) Four hours and five minutes
(3) Half an hour (4) A full day
17. What does the expression ‘pillar box’ stand for ?
(1) A box attached to the pillar (2) A box in the pillar
(3) Box office (4) A pillar-type post box
18. What happens when the time to be spent on some work increases ?
(1) The work is done smoothly (2) The work is done leisurely
(3) The work consumes all the time (4) The work needs additional time

19. Explain the sentence : ‘Work expands so as to fill the time available for its completion’.
(1) The more work there is to be done, the more the time needed.
(2) Whatever time is available for a given amount of work, all of it will be used.
(3) If you have more time, you can do more work. :
(4) If you have some important work to do, you should always have some additional time.

12-PM/M/XX-XX/N 6



Passage-IV

Recent technological advancement in manned and unmanned undersea vehicles, overcome some of
the limitations of divers equipment. Without a vehicle, divers often became sluggish and their mental
concentration was limited. Because of undersea pressure that affected their mind, concentration
among divers was difficult or impossible. But today, most oceanographers make observations by
means of instruments that are lowered into the ocean or from samples taken from the water. Direct
observations of the ocean floor are made not only by the divers, but also by deep-diving submarines.
Some of these submarines can dive to depths of more than several miles and cruise at depths of 15
thousand feet. Radio equipped buoys can be operated by remote control in order to transmit
information back to land-based laboratories including data about water temperature, currents and
weather. Some of mankind’s most serious problems, especially those concerning energy and food
may be solved with the help of observations made possible by these undersea vehicles.

20.  This passage suggests that the successful exploration of the ocean depends upon
(1) vehicles as well as divers.
(2) radio that divers use to communicate.
(3) controlling currents and the weather.
(4) removal of the limitations of diving equipment.

21. How is a radio-equipped buoy most likely to be operated ?
(1) By operators inside the vehicle and underwater.
(2) By operators outside the vehicle on a ship.
(3) By operators outside the vehicle on a diving platform.
(4) By operators outside the vehicle in a laboratory on the shore.

22. With what topic is the passage primarily concerned ?
(1) Recent technological advances (2) Communication among divers
(3) Direct observation of the ocean floor (4) Undersea vehicles

23.  Divers have had problems in concentrating underwater because
(1) the pressure affected their minds.
(2) they got distracted.
(3) they did not think clearly.
(4) the pressure destroyed their mental processes.

24. Undersea vehicles
(1) are too small for a man to fit inside.
(2) are very slow to respond.
(3) have the same limitations that divers have.
(4) make direct observations of the ocean floor.
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Passage-V

A new US study has warned that adolescents who take performance enhancing anabolic steroids are
more likely to have adverse neural and behavioural consequences, like aggression and moodiness,
because of the steroids’ affect on the underdeveloped brain and the nervous system. The study by
Northeastern University in the US, centred around a brain chemical called serotonin, which is linked
to mood. Lower levels of serotonin are associated with depression and aggression. For the study,
experiments were carried out on a strain of Syrian hamsters. This breed has similar neurological
circuitry to humans, so experts felt it might be a good model for humans in this respect. The hamsters
were given a high dose of anabolic steroids over the course of a month—which corresponded to five
years’ repeated dosage in humans. The researchers found that the hamsters were more aggressive than
those not given steroids and these aggressive tendencies were mellowed if Prozac—a drug which
boosts serotonin “uptake”—was given. However, subsequent analysis showed significantly lower
than normal serotonin levels in the neural connections of the hamster’s brains. This suggests there
may be a longer-term effect of taking steroids while the brain is still developing. Professor Richard
Melloni, who helped run the study, was quoted as saymg by BBC : “We know testosterone or steroids
affect the development of serotonin nerve cells, which, in turn, decreases serotonin availability in the
brain. The serotonin neural system is developing during adolescence and the use of anabolic steroids
during this critical period appears to have immediate neural and behavioural consequences.”

25. The drug that boosts serotonin uptake is

(1) Prozac. (2) Melanin. (3) Erythrocytes. (4) Penicillin.

26. Which of the following is the most appropriate synonym of the word ‘mellowed’ used in the
passage?
(1) Harsh (2) Softened (3) Interm (4) Unpleasant

27. Why do adolescents develop neural disorders ?
(1) The effect of steroids hampers the growth of the brain.
(2) Prozac, if taken in excess by adolescents, makes them aggressive.
(3) Due to a decrease in the level of serotonin in the blood.
(4) None of these

28. Which of the following sentences is true, according to the passage ?
(1) Adolescents are more likely to have neural and behavioural disorders.
(2) Depression and aggression are caused by a lower intake of serotonin.
(3) Those taking steroids are likely to face long-term neural and behavioral unphcatmns
(4) None of these

29. Upon which breed of mammals were the experiments carried out ?
(1) Sicilian gangsters  (2) Italian hamsters ~ (3) Syrian hamsters  (4) None of these

30. The thrust area of the research mentioned in the passage is
(1) the effect of serotonin on the human brain.
(2) the effect of high doses of anabolic steroids.
(3) the immediate neural and behavioural consequences of the use of anabolic stermds
(4) All these
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Directions (Questions 31-35): Fill in the blanks.

31,

32,

33.

34.

35.

The Indian media has never been a monolith and for every news outlet, there has
been a sensationalist tabloid as a counterpoint.

(1) credible, corresponding (2) deceptive, emulated

(3) imaginary, similarity (4) controversial, alternate

The government issued a warning to the social media platform asking it to take
immediate measures to prevent the spread of “irresponsible and messages.”

(1) amiable, imploring (2) flinty, explosive

(3) acquiescent, supplicate (4) static, implosive

to clear the Civil Services preliminary examination twice in a row had severely
her self-esteem.

(1) Dream, drowned (2) Negligence, sank

(3) Failure, affected (4) Laxity, effected

After months of colder weather, the days get longer, the buds in the trees, birds
sing, and the world a green dress.

(1) come out, puts on (2) put off, comes around

(3) take up, deals with (4) fall off, carries on

The most important use of petroleum or crude oil is as a fuel for heating for

electricity, and for powering vehicles.

(1) being generated, favourably (2) generating, especially

(3) to generate, exclusively (4) generated, decisively

Directions (Questions 36-40) : In each of these questions, out of the given group of words, choose
the correctly spelt word.

36.

37.

38.

39.

40.

(1) Lackadaisical (2) Lackadasicial (3) Lakadaisicial (4) Lakadasicial

(1) Delaterious (2) Deleterious (3) Daleterious (4) Dalaterious
(1) Repertiore (2) Repartoire (3) Repertoire 4) Repartiofe
(1) Ostantious (2) Ostantatious -(3) Ostentetious (4) Ostentatious
(1) Nuance (2) Nuaence (3) Nuanice (4) Nueance
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Directions (Questions 41-45): In each of these questions, choose the option which can be substituted
for the given words. '

41.

42.

43.

44,

45.

A bicycle with seats and pedals for two riders, one behind the other.

(1) Tricycle

(2) Barrow

(3) Toboggan

A group of three people holding power in an organization

(1) Triumvirate

(2) Trivet

A mournful poem or a song

(1) Elegy

(2) Hymn

(3) Tritium

(3) Epic

(4) Tandem

(4) Trio

(4) Ode

A narrow stretch of land with sea on either side, connecting two large bodies of land

(1) Peninsula

(2) Island

(3) Isthmus

Calmness and composure, especially in a difficult situation

(1) Equanimity

(2) Verbatim

(3) Detachment

(4) Strait

(4) Charade

Directions (Questions 46-50): Choose the option that is the plural form of the given word.

46.

47.

48.

49,

50.

Fish
(1) Fishs

Fungus
(1) Fungusess

Aircraft
(1) Aircraftes

Goose
(1) Gooses

Alumnus
(1) Alumnuses
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(2) Fishess

(2) Fungusses

(2) Aircrafts

(2) Goosess

(2) Alumni

10

(3) Fish
(3) Fungi
(3) Aircraft
(3) Geese

(3) Alumnusses

(4) Fishhes

(4) Fungis

(4) Aircrafites

(4) Goosses

(4) Alumnusess



Directions (Questions 51-55): Choose the option which best expresses the meaning of the underlined
idiom/phrase in the sentence.

3l.

52.

53.

54,

55,

-

Nothing worthwhile can be accomplished by fits and starts.
(1) by losing patience (2) by being in high spirits
(3) by working intermittently (4) by getting confused

1 am on the horns of a dilemma about the matter.
(1) in suspense (2) in a terrible mood
(3) in a difficult situation (4) in a nervous condition

My parents are running their business for the last five years, but now it is on its last legs.
(1) about to take off (2) about to perish
(3) about to produce results (4) about to fructify -

I knew the boss was angry, so when I saw her come in, ] made a beeline for my room.
(1) to be at leisure (2) to do your own work
(3) to head straight toward something (4) to work diligently

My sister sets my teeth on edge with her tall tales.
(1) to cheer someone (2) to irritate someone
(3) to praise someone (4) to help someone

Directions (Questions 56-60): Choose the word which is opposite in meaning of the underlined
word,

6.

5%,

38.

59.

60.

The current of the river is fast flowing and treacherous.
(1) delusive (2) loyal (3) precarious (4) perfidious

A serene mind can never be the pioneer of a great revolution.
(1) tranquil (2) jocular (3) earnest (4) agitated

Our special offers are intended to entice people to buy. _
(1) allure (2) help (3) attract : (4) repulse

Garima went to sleep in languor after coming back from work.
(1) hate (2) vigour (3) ecstasy (4) fatigue

He has always been hard-working and frugal.
(1) extravagant (2) crafty (3) thrifty (4) inane
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

The T e Cr et e
20’10 30
3 7 7

9
(1) 2055 (2) 395 | (3) 2755 4 32E

The salary of Sunita is 62%% of what her elder sister Anita is getting. If Anita's salary is

€12,000, the salary of Sunita is h
(1) %6950 (2) %7500 (3) 37280 (4) 7375

If the income of a manager is increasing annually by 10%, what will be the change in his
income after two years? '
(1) 21% increase (2) 22% increase (3) 23% increase (4) 25% increase

A dealer is professing to sell his goods at a loss of 4% but by means of his false balance, he
weighs 900 grams in place of a kg. weight. His real gain or loss percent is

(1) Zain 8%% 2) loss 6%% (3) gain 6%% (4) None of these

3 years ago the average age of a family of 5 members was 17 years. With the birth of a baby,
the average age of six members remains the same even today. Find the age of the baby.

(1) 1 year (2) 2 years (3) 3 years (4) 4 years
Which one of the following fractions is the least?
2 31 18 17 |
577 85" 38’ 42

29 31 13 17
et e i ="
()57 ()85 ()38 ()42

A man spends —;—th of his salary to meet pocket expenses. % th of the remainder of his salary he

spends to meet his other expenses. If his monthly salary's savings amount to Y1250, find his

monthly salary.
(1) ¥7711.50 (2) ¥7509.50 (3) ¥8721.25 - (4) 7812.50

3
The value of EO'—Z)57)-§+{0.75+(0.75)2 +1} s

1) 4 @) 3 3) % | @1
If 16" =64x47*, the value of x* is ;

1 1 1
W 5 @ 5 OF @1

A party hall is 17 m 28 cm long and 11 m 52 cm broad. It is required to pave the floor of the
hall by using minimum number of square slabs of marble. How many such slabs are required?

(1) 4 @) 5 (3) 6 ST
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i &

72

73.
74.

73

76.

T,

78.

79.

80.

A and B can separately do a piece of work in 20 and 15 days respectively. They worked
together for 6 days, after which B was replaced by C. If the work was finished in next 4 days,
then the number of days in which C alone could do the work will be !

(1) 60 days (2) 40 days (3) 35 days (4) 30 days

A man buys milk at ¥15 a litre and mixes it with water. By selling the mixture at ¥12 a litre he

gains 12-;- percent on his outlay. How much water did each litre of the mixture contain?
1 1 13 s el

1) — litr 2) — litre 3) — litre 4) — litre

()z'e ()451 ()45 ()45

Three boys are aged 2 years, 4 years and 8 years. They want to divide seventy rupees in the
ratio of their ages. How much money would each get?
(1) T15,5%20, X35 2) ¥2,3220%36 (3) 16, %24, T30 (4) %10, 220, 40

While selling an electric fan, a dealer gives a discount of 5%. If he gives a discount of 8%, he
earns <36 less as profit. The marked price of the fan is :
(1) 1000 (2) 1200 (3) X800 (4) None of these

The number of two digit numbers which on being reversed (i.e., their digits exchanged the
position) gives out perfect square two digit numbers is/are .
(1 ) 4 3)6 4) 10

John invested a sum of money at a certain rate of simple interest in a bank for 7 years. He got
double the sum he invested at the end of 7 years. The rate percent is -

0 12%% @) 10-32-% 3) 14%% @) 17%%

A sum of Y8000 is deposited in the bank. The rate of interest in the bank for first year is 5% and
for the second year 8%. Find the compound interest,
(1) 71072 (2) 7980 (3) %1124 (4) 1242

A marriage party travelled by bus at 50 km. per hour for 3 hours and 17 minutes. Due to some
fault in bus, they decided to reach their destination by train which also took 3 hours 17 minutes.
If the speed of the train is 60 km/hour, the average speed of the whole journey is :

(1) 35 km/hr. (2) 45 km/hr. (3) 55 km/hr. (4) 50 km/hr.

A train 135 m long passes a boy standing on the platform in 7 seconds, but it passes the
platform completely in 21 seconds. The length of the platform is :
(1) 310 m (2) 185 m (3) 270 m (4) 215 m

A boat can be rowed with the stream 1-21~ km in 15 minutes and the same distance against the

stream in 22—;— minutes. The stream is flowing at the rate of
(1) 3 km per hour (2) 1 km per hour (3) 2 km per hour (4) 2.5 km per hour
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fordher (e 81-82) : 91 Ul ¥ fAQ Y m/am—was/w—am ﬂ'ﬁ[\'&' H q DT UH 3 A T

frery apef ¥ ererT & OEfe 3 UH O 57

8l.

83.

84,

85.

86.

88.

9.

F8G, G9H, H7I, I8H, I5K, K7L .
(1) GOH @) I5K (3) I8H (4) K7L

2. ABC, BDF, CFl, DHL, EJM, FLR

(1) BDF (2) DHL (3) FLR (4) EIM

g, fwret @ fanfaar 8 | R, ifie &7 sex—ge—aif § | e, Wﬁmwmﬁiﬁ%m’rﬁm
BT 9T 8 | 319, Wﬁw&ﬁﬁmaﬁm%é&mﬁm%mﬁmmaﬁaﬁmﬁwﬁ?

1) |eR (2) FR-gA-<l

(3) HY. 4) FerfRa &t fear S Haem
@'—a‘wﬁamﬁrﬂaﬂ,ﬁwaﬂw forem oiR g99 SR P AR TSN BRD [P FAR H T
& (oredy e @ 5 g e A E‘r)l W%ﬂwﬁﬁﬁwww@r%w,aﬁm%
& v 1] & | Al ok drer, ST & 918 AR BEl TR & | o, o ® D ¢ TS
£ e ok e @ G < @l €1 oo iR Al 3 9w e ' 87

(1) forem (2) sifdwar (3) T (4) ofar

fooxd @i ®T$ ¥ MOBILE @ OMIBEL f¥rar e 2| 99 $e § TELEPHONE &7 37 foram
SATQT?
(1) ETELHNPOE (2) LETEHPNOE (3) ETELHONPE (4) ETELHPNOE

fareft @ Bre § HIMALAYA @Y 201915271627327 3R NILGIRI @7 14191621191019 forar
ST &) 99 P § ARAVALIL &7 @7 forar wme?

(1) 2710276271619 (2) 2710276271620

(3) 2710296271619 ' (4) 2711276271619

. ST A W ¥ IRE T SR 800 HeX T § | 800 HeR Hetdx 98 B VI TR UgHA ¥ 39

g8 B e ¥ 9¢ gedl § &R 500 #ier FaeR C Wi Ugad 2 | C e ¥ g8 %y a7g
£ 3R 400 HeR TR D WM Ugee §| WM D, WH A 9 forw R # fera 27
(1) STR—F (2) sfaror—ufd=s (3) STR—ufREH (4) sfarT—g=e

Amsaﬁaﬁmm94a§mﬁﬁ%|wﬁma&mmmwmﬂmm
iR B @ g9 oy foer 87
(1) 18 @ik 8 adf (2) 27 &R 1299 (3) 45 &R 20 ¥ (4) 36 3R 16 I

firwer gara ¥ TR S BT G N TAT BT 55% WK FIAT AR 20% FA A | F(E FAl B
cﬁaﬁw%oo&hﬁmaﬂ#aﬁmﬁaﬂ?ﬂﬁwﬁvﬁrﬁ
(1) 2250 (2) 2700 (3) 2750 (4) 2800
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Directions (Questions 81-82) : Find the odd one out. _

81.

82.

83.

84,

85.

86.

87.

88.

89.

F8G, GOH, H7IL, I8H, I5K, K7L
(1) GOH (2) ISK (3) I8H (4) K7L

ABC, BDF, CFI, DHL, EJM, FLR
(1) BDF (2) DHL (3) FLR (4) EIM

Sushma is married to Vimal. Vimal is the brother-in-law of Amita. Lakshman is Madhav’s male
cousin who is son of Vimal. Arjun is the father of Sushma’s only sister Amita’s son. How is
Lakshman related to Arjun? 7

(1) Father-in-law (2) Brother-in-law :

(3) Nephew (4) Can’t be determined

Six persons Ankita, Meenakshi, Laila, Ojas, Nisha and Daman are standing in a row facing
north (not necessarily in the same order). Ankita stands in one of the middle two positions.
Daman is standing three places right of Ojas. Meenakshi and Laila stand somewhere to the left
of Ankita, Laila stands to the immediate left of Ojas. There are two persons between Laila and
Nisha. Who is standing between Ojas and Meenakshi?

(1) Nisha (2) Ankita " (3) Daman (4) Laila

In a certain code MOBILE is written as OMIBEL. How is TELEPHONE written in that code?
(1) ETELHNPOE (2) LETEHPNOE (3) ETELHONPE (4) ETELHPNOE

In a certain code HIMALAYA is written as 201915271627327 and NILGIRI is written as
14191621191019. How is ARAVALI written in that code?

(1) 2710276271619 (2) 2710276271620

(3) 2710296271619 (4) 2711276271619

Ayesha started travelling east from point A for 800 m. At the end of 800 m, she reached point B.
She took a left turn from point B and travelled for another 500 m and reached point C. From
point C she turned left again and travelled for 400 m to reach point D. In which direction is
point D from point A? :

(1) North East (2) South West (3) North West (4) South East

The present ages of A and B are in the ratio of 9:4. Seven years hence, the ratio of their ages
will be 5:3. Find the present ages of A and B?
(1) 18 and 8 (2) 27 and 12 (3) 45 and 20 (4) 36 and 16

In the last election, the ruling party got 55% of the total valid votes and 20% of the votes were
invalid. If the total number of votes was 7500, what is the number of valid votes that the other
parties got?

(1) 2250 (2) 2700 (3) 2750 (4) 2800
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frder (e 90-91) : < R 7Y siffmer (4) ik wRoT (R) @ forg frmifafea & & W& Awew g+ |
AT BT WY # eifhd @ |
(1)(A)3ﬂ?( R) S W& & T (R), (A) & WET & & |
(2) (A) 3R (R) a1 w8l € fg (R), (A) @ |E! <] 761 8 |
(3)(A)Qﬁ’?;ﬂ' %(R)W%\I
(4) (A)naa & fog (R) WY 2|

90. A): Siet s (Foe) ﬁwﬂﬁmﬁa@aﬁ$mmﬁwﬁmwmmﬁ%|
amUr(R) foper #1 widter § & aren HIRTET w7 €| ;

91. IAMHAT (A): UH TRPRI ATDHS B STAR ol 7 avf # = 7%t o fiea (gurs) 77 & smard)
60% T B Safh ST TR DT GETE Y BT IS BaIA 2% T B |
SRV (R): facell =% o qure MY Sened Jfde wEn § g <o 2

foraer (W1 92-93): +ra fAT 7T g9 ueel § &F o2 3R & | ¥ $oH a7 o Was BN 8 qhd
& | ST We RN B AT P AT HRYN & G981 T & | 5 B 4§ TP, TR HAF BT W91T
B 9T & | S B U< AR Fofa o) 6 FrefaRed § 9 -1 SR feer 2t Bt & d
waﬁmﬁaﬁ%@m@ﬁw%imwﬁwﬁﬁaﬁmﬁmﬁl

(1) af% BT 1 HRYT & R FIF 11 THHT W91 B |

(2) A T 11 FRIT & 3R HUF [ SHHBT T4T & |

(3) OfE o 18R I SHT Wad SR & U9 & |

(4) IfE T 18R IS T e SR & W9 & |

92. HYH
I S a9 1097 Pem B 3w WieT & SRM THod BN B BIH! D THA FET ST |
1. whet UiEerr wiersl & SR Jod & uv Ty e & Reems 9w $rRag a) <8
# 3R SR AP © Rae® DU D SR AT BT BT AT 2|

93,

L Iﬁﬁ%ﬂgagﬁﬂmﬁéw$$§wﬁﬁ gAgA AHD b QI & A WIRT FIRET BT =g
l
1L. w#waﬂwm#wwmméaﬁ?wﬁw&ﬁzﬁwﬁqmﬁaﬁw
l

ferder (129 94-95): T ST H U HH iR SW 18 1 e [ Segifeha ) o1 gomedt €) 7 & | ey
B H <1 TS B A DI A AT § SR R fola v € fF ergeRer @ fg geiE e &) e
TUTTfeTal § W B! dihd w9 W Wal eTal 8 | AT SeR frefaad WY # sifhd BN |

(1) 3% Pae FrIvmeN [ WE T &

(2) IE Baet B oSl 1 WEl oFTel &

(3) afg Hrd yorrel 18R 11 9 WeT erelt &

(4) T =1 ar S yomel 1R 7 & [ 9 e &

GL]

T et U+« oTe] fad gy # ¥12 w_ie & e o sifora far 2 | fasig & =
e a1 B 39 A @ Had SUEET @ S aNId ST § SHH UsT § SIRERG! 9 Tearen
QT R G ATY TTeR AT BT YT HRAT SR ORI & qeeT §8 719 I b & oy Ieurad
EHAT g H e BT |

Fri yorelt

L BU @ IR RS B G BRY B 1Y G W1 S g SN =Ry |

IL. ma@mwwmzﬁmmmﬁmml
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Directions (Questions 90-91) : For the Assertion (4) and Reason (R) below, choose the correct
- alternative from the following:

Mark answer as

(1) if both (A) and (R) are true and (R) is the correct explanation of (A).

(2) if both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) if (A) is true but (R) is false. ]

(4) if (A) is false but (R) is true.

90. Assertion (A): Jelly fish uses its tentacles to subdue a prey.
Reason (R): A jelly fish has stinging cells in its tentacles.

91. Assertion (A): According to a government data, the population of milch cow of foreign breed
has increased by 60% while that of domestic breeds has increased by only 2% in the last 7 years
in India-

Reason (R): Milch cow of foreign breed gives a much higher yield of milk.

Directions (Questions 92-93): The question given below has two statements I and II. These
statements may be either independent causes or may be effects of independent causes or a common
cause. One of these statements may be the effect of the other statement. Read both the statements and
decide which of the following answer choices correctly depicts the relationship between these two
statements. Mark answer as

(1) if statement I is the cause and statement II is its effect.

(2) if statement II is the cause and statement I is its effect.

(3) if both the statements I and II are effects of independent causes.

(4) if both the statements I and II are effects of some common cause.

92. Statements . ‘
I There have been too many cases of cheating during 10% standard final year exams this year.
II. The school authorities are taking strict action against students who are found cheating
during exams and have decided to take preventive measures against cheating.

93. Statements :
L.~ The meteorological department has issued a warning of a cyclone named Bulbul with heavy
rainfall in many parts of the country.
II. The Government has declared red alert in the coastal areas and cautioned all fishermen
against going to sea. :

Directions (Questions 94-95): In each of these questions, a statement is followed by two courses of
~ action numbered I and II. You have to assume everything in the statement to be true, and then decide
which of the two suggested courses of action logically follows for pursuing. Mark the answer as

(1) if only course of action I follows

(2) if only course of action II follows

(3) if both courses of action I and II follow

(4) if neither course of action I nor II follows

94. Statement
A public company has earned a windfall gain of ¥12 crore in the current financial year. The
financial team has advised the board of directors ways to best utilise this profit, one, to pay
higher dividend to share-holders to meet their expectations and, two, to invest in increasing the
production capacity to meet increasing demand.
Courses of Action
. The company should distribute all the profits to the shareholders in order to appease them.
II. The company should invest the complete amount towards investing in increasing the

production capacity.
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95. WY
B TR IR ALY @i g # et & Wed 7 89 @ Ui T SR | 7D
g TS TR T P FaRelT B HH] |
S Yot
I %@?ﬁiﬂﬁﬁ%ﬁﬁﬁ%ﬁ%ﬁ%ﬁmﬁ%@%ﬁm
|
II. TROR B TR TS -1 UR FHEMET BT F0T G231 IRM BT TP ThIH P BT A1M8Y Ol I
SURHY SR AL @IeT H 7aa ol |

forder (99 96-97): 39 WAl H UBl UP HUF 3R SHD 918 ar g 3R e 1y g | sy vy

. BT B R PE—T 98 TP Ueel Ob 8 AN BE—d P ‘FHAR IP B |

T SR fefeifad w F eifdag o |
(1) aft Faa T [ &
(2) IfE Dot d& 1l S 8
(3) IR 9% 18R U T vael &
@Ak Fd ae [k 7 & Ived &

96. U : 4R BT RCEP ¥ [+ TR WEFA BMT AIMRY, ot &1 T YU 3MebeT RITHHDHR AfABRY
;ﬁéﬂwﬁl
I B fwer Wifesier 99 41 Suarl w81 & Hife sres R earor W) B v & g
YRS ® U TS S B TEl F |
II. 981, BT AT WA & iR 9N P 39 ANTRDY @ fhel @ I Harad g &
oI W wRA @ PR TSl BreAT =Ry |

97, U : WioUE ¥ g HAHSH gRT W o AT T FaeR @ s AdeR
aﬁmﬁ@ﬁ' AT |
L &, AISET S B FOita ox7 @ g 98 Weiem wiike fvar S =Ry wifes |rdiifs
TIRH AAMGR U HTHT GRET Waem 2 |
II. aﬁaﬁwﬁmww@wmﬁu%sﬁvwﬁw—wzﬁmﬁmmﬁm
Waﬁam‘%w%l

e (wee 98-102): ¥ & T I BT M W UGN 39 YA B TR
aﬁawﬂaﬁa?mﬁwé&wwmﬁwaﬁmwﬁ%maﬂw?ABCDE
wﬁaﬁm#ﬂﬁﬁé%mﬂﬁaﬂﬁmmaﬁaﬁ?%i :

THRT e & |
AR 3 A & | o1 ¥

)E i 4 - @B
3)D (4) FaiRa ==t far o |ear



95.

Statement
Lack of access to low interest credit is one of the major reasons behind inability of farmers to

buy modern agricultural equipment and machinery.

Courses of Action

I. - Government should plan a scheme to provide agricultural equipment and machines free of
cost to farmers all across the country, .

II. Government should launch a scheme to provide farmers, loans at cheap interest rates which
will help them buy equipment and machinery.

Directions (Questions 96-97): Each of these questions consists of a statement followed by two
arguments I and II. You have to decide which of the arguments is a strong’ argument and which is a
‘weak’ argument.

Mark the answer as

96.

97.

(1) if only argument I is strong

(2) if only argument II is strong

(3) if both arguments I and II are strong
(4) if neither argument I nor II is strong

Statement: India should agree to join RCEP even if it has to give up its data localisation rights.

Arguments: ,

L. Yes. Data localisation is anyway not useful as India does not have enough IT firms to work
on data localisation.

II. No. Data is the new resource and India should not give up its right to use the data of its
citizen for their best use. '

Statement: The union cabinet amendment to the Constitution which will modify the right to

vote under Universal Adult Franchise.

Arguments:

I Yes. The amendment should be passed to modify the existing law as Universal Adult
Franchise is an age old provision.

II. No. Universal Adult Franchise is an essential part of the democratic structure of the Indian
Constitution and the polity.

D‘irections (Questions 98-102): Study the information carefully to answer these questions.
Six friends are sitting around a round table planning a carnival. The friends are—A, B, C,D,E andF.
They are not necessarily sitting in the same order. All are facing inside.

98.

i. A is sitting second to the left of B.

ii. F is sitting opposite to the person who sits to the immediate right of D.
iii. B sits between E on one side and F on the other.

iv. D doesn’t sit between A and E.

v. The friend sitting next to F doesn’t sit to the immediate right of E.

Who among the following is sitting between A and C?
(D E (2B
(3)D (4) Can’t be detennined
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99,

100.

101.

102.

F® AW $49 90T 87
(DA B
(3)C (4) FeriRa =8t fvar & |eoan

ES FF 33 @i 31 918 3R g¥R WM W P 90T 87
(1B (2) A
(3)D (4) FeriRa =78 far o A

gfe D3R B 3MU9 & AU T8 991 oid & af E3iR F & §19 $I9 o1 87
(1) A (2) D

B & (4) FreriRa =& forar S Faan
frfiiae # & PIF—H1 STST TH—-gR & 97l § doa 87
(1) C3iRA ' (2) C3RD
(3) B3iRA . (4) faeiRa =8t foar S weben

forder (7 103-105): 99 B Wie—foed Ry 1 § e & = <1 afiet @ 9 g@o Rear R
g1 9 o & sfeafaa Rea wrevifie € ok foell v foiy & 3 oruare @1 fawm o 781 e |
T & Sfediad AWl | 5 @fed & o1 &1 o gw= 7 @ g |

103.

I. P+Q@FT 3 2 f5 P, Q1 +TE 2|
I. P% QT &ef 8 f5 P, QT 9T 5|
ILPxQ®T 3ef 8 % P, QT fUar 21
IV.P* QT &ef 8 i P, Q&I Uil 8|
V.P-Qar af & f5 P, Q& 987 B

frfaRaa % 9 s9—ar Rear fegmr & % L, R @1 98 87
()L *D%R @) L*D-R
(3)L+DxR (4)L+D%R

104. IR L*Dx RIS € @ LR R& &g Fa7 Ryam &7

(1) L,R&%T fUar & QLRI AT

(3) L, R @7 et ® (4) L, R &7 3i%d &
105. Iff LxD* R eI 8 a1 L8R R & sra o7 Rear &7

(1) g (2) FER—gF—at

(3) W (4) RrFeR—ga—di
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99.

100.

101.

102.

Who is sitting opposite to F?
(1) A (2B i
3 C (4) Can’t be determined

Who among the following is sitting second to the left of the one sitting opposite to E?
(HB @ A
3)D (4) Can’t be determined

If D and B exchange their places, who will be sitting between E and F?
() A ' @D
3)C : (4) Can’t be determined

Which among the following pairs sits adjacent to each other?

(1) Cand A (2) Cand D

(3) Band A (4) Can’t be determined

Directions (Questions 103-105): Given below are some symbols each showing some relationship
between two persons. Assume that the relationships mentioned are universal and do not take into
account any exception from any particular community. Also do not assume the gender of a person
from the name mentioned.

103.

104.

105.

L. P+ Qmeans P is the brother of Q
II. P % Q means P is the son of Q
III. Px Q means P is the father of Q
IV.P * Q means P is the wife of Q

V. P-Q means P is the sister of Q

Which of the following relations shows that L is the daughter-in-law of R?
(DL*D%R 2)L*D-R BYE+£BxR . 4 L+D%R

IfL * D x R is true, what is the relationship between L and R?
(1) L is the father of R (2) L is the mother of R
(3) L is the aunt of R ~ (4) Listheuncle of R

IfL x D * R is true, what is the relationship between L and R?
(1) Father-in-law (2) Brother-in-law
(3) Mother-in-law (4) Sister-in-law

12-PM/M/XX-XX/N 23



106. i sreferaen woTel &1 F4T AU &7
(1) =g Semi ok faene el &1 wE—eRawa
(2) &= @R Fel @1 Wi
3) et &R Arduifs &7 $1 TE—-aad
(4) P iR WY ST A BT AR g ST

107. OR G o B €
(1) 5/ gedi, qF & W AGEID Bl B
(2) &9 G, TSAT B HIW Torald ERil 8
(3) Ta @ A9 |
(4) w7 G, = ok g U el v ¥ B ¥

108. gReT IR el A A W HiE eI USR] BT AH /=T 7
(1) TR (2) ¥ SRRiiIRS
(3) BIEHRA - (4) SfeH AHISS

109. 9RT & TJ AMUR o e B B {3 o1 Sy I are uge Jae Ad I o7

(1) PR (2) STETR
ORUESH] (4) =TT
110. feeel BT ISR T4 O ¥ URe IS I & SR WRG @1 o ot |
(1) =T (2) g%
(3) DIAHEl (4) TeT

111. 9 ERT URE R—eF RE® &1 Rd & WUy frae IR el |ad 87
(1) T& IR (2) T SR
@G T IR (4) T 7B

112. “RA & W™ @ SR Frefied ¥ & o1 v #difes sfter T8 87

(1) FH=aT BT AR (2) I & g sifEer
(3) HufxT @7 DR (4) g9 O AT BT SARBR

12-PM/M/XX-XX/ 24



106.

107.

108.

109.

110.

111.

112,

What do you understand by the term ‘Mixed Economy’?

(1) Co-existence of small scale and large scale industries.

(2) Co-existence of the rich and the poor.

(3) Co-existence of private and public sector.

(4) Assigning equal importance to both agriculture and heavy industries.

Tides are the highest

(1) when the Earth is at its nearest to the Sun.

(2) when the Earth is at its nearest to the Moon.

(3) in-the spring season.

(4) when the Sun, Moon and the Earth are in a straight line.

What is the name of combustible material at the tip of a safety match stick?
(1) Sulphur (2) Manganese dioxide
(3) Phosphorus (4) Antimony sulphide

Who among the following was the first Mughal emperor to allow Britishers to establish trade
links with India?

(1) Akbar , (2) Jahangir
(3) Shah Jahan (4) Aurangzeb

Where was the capital of India during the British rule in India before shifting to Delhi?
(1) Lucknow (2) Bombay
(3) Calcutta (4) Patna

How many times can the President of India return a non-money Bill, passed by Parliament?
(1) Once (2) Twice
(3) Thrice (4) Never

As per the Constitution of India, which of the following is not a Fundamental Right?
(1) Right to Equality (2) Right against Exploitation
(3) Right to Property (4) Right to Freedom of Religion
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113.

114.

115.

116.

115

118.

119.

120.

TRE ¥ R HI SR B U ING T ST FIAT BT BT B

(1) Sif=a g i (2) Mt

(3) ferg=™ gHIfeTer (4) o & & fafics

Ryare 2019 3§ ¥RE @ Wdted AT 3 |are ey (R #t o) s Res,
2019 @ TEd TR 7Y ARl B PRy @ e e o go s B TS |
(1) sHA (2) <=

(3) (@) T ¥ B T

ST BT P (1S TH TH) B A Y Fwd & w9 F fbwer wg fhar wr 2

(1) ITgEHET TIP (2) forwareita wiffgar

(3) 3T araitel (4) s AU

forer TRTTE T 3 B €1 ¥ 350 Wiey, 17 6i7e o€ R ‘AeH TR’ ST 3R {6 €, et
80%@??%&'@@%@%&@%@%#@@%?

(1) =R MEISED]

(3) et (4) iR

J T U 2019 oy o1 Aften voer R e Sar?

(1) ¥ faferaea ) fieT g,

(3) TR SiTHT (4) RrFeRar seme

frefaian 3 9 f59 99 &1 3 981 78 87

(1) TR&wR — AR I (2) Rifea — T@e TaT

(3) WRFTER — WHDHIE UTelH (4) TfEPemR — AEHIE e

o6 T AT B Aeet S TRRIT @ FaY IHERTS Arsa g T % a1
(1) =fror BT () BT BT

(3) TR (4) fferd=g

SPACES @ de—aTed X< NT E 3T VP o 2 |

(1) Iae= dred (2) 9 BIET

(3) s I @) & SHR SHDfE
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113.

114.

113.

116.

117.

118.

119.

120.

‘Dove’, a well-known brand of personal care products in India belongs to company.
(1) Johnson & Johnson (2) Godrej
(3) Hindustan Unilever . (4) ITC Ltd

In September 2019, the Supreme Court of India has appointed four new judges under Supreme
Court (No. of Judges) Amendment Bill, 2019 which now took the total strength of judges to

(1) tﬁirty one (2) thirty two

(3) thirty (4) None of these

Who has been selected as the new managing director of the International Monetary Fund
(IMF)?

(1) Abdulgawi Yusuf (2) Kristalina Georgieva

(3) Audrey Azoulay (4) David Malpass

Which Asian country has unveiled “Lotus Tower”, the 350 mtr, 17-story tall tower, 80% of its ‘
cost has been funded by China under Belt and Road Initiative (BRI)?

(1) Myanmar (2) Sri Lanka
(3) Nepal (4) Bangladesh

Who has won the women singles title of US Open 2019 tennis tournament?
(1) Sarena Williams (2) Bianca Andreescu
(3) Naomi Osaka (4) Victoria Azarenka

Which of the following pairs is NOT correctly matched?

(1) Apiculture - Bee keeping (2) Pisciculture — Fish rearing

(3) Sericulture — Silkworm rearing (4) Horticulture — Lac rearing

‘Alice Pang’, the 96-year-old female fashion model and oldest model of Asia is a resident of
(1) South Korea (2) Hong Kong

(3) Myanmar (4) Philippines

‘Rangana’ the range of bed-lines by SPACES is from the house of

(1) Welspun Weaves (2) Bombay Dyeing

(3) Raymond Group (4) D’decor Home Fabrics
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